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Frl s el 6. 50 1.75 1.95 1. 60 90.0 0.0 0.0 90.0|  12,680.0 g;j(;@;;; M,
12.2 0~ 12.3 0 6. 50 1.83 1. 60
] VA el 6. 50 1.75 1.95 1. 60 104.0 0.0 0.0 104.0[  12,784.0 ;;ézﬁ% M,
12.3 0~ 12.4 0 6. 50 1.83 1. 60
] VA & e 6. 50 1.85 1.90 1.65 105.0 0.0 0.0 105.0[ 12,889.0 TAZ TV R
12.4 0~ 12.5 0 6.50 1. 90 1.65
Frl WL e e 6. 50 3.50 1.00 1.65 107.0 0.0 0.0 107.0[  12,996.0 TAZ TV R
12.5 0 ~ 12.6 0 6. 50 3.75 1.65
el L e 6. 40 3.50 1.00 0. 65 101. 0 0.0 0.0 101.0{  13,097.0 TAT T v N
12.6 0 ~ 12.7 0 6. 40 3.75 0. 60
] LS L 6. 50 3.50 1.00 0. 65 112.0 0.0 0.0 112.0[  13,209.0 TAT TV M
12.7 0 ~ 12.8 0 6. 50 3.75 0. 60
e R e 6. 50 3.55 1. 00 1. 50 103.0 0.0 0.0 103.0|  13,312.0 TAZ T v M
12.8 0 ~ 12.9 0 6. 50 4.55 1. 50
e s e 6. 50 3.55 1. 00 1. 50 107.0 0.0 0.0 107.0|  13,419.0 TAZ T v
12.9 0 ~ 13.0 0 6. 50 4.35 1.50
Frl s el 6. 50 3.45 1. 00 1. 50 96. 0 0.0 0.0 96.0| 13,515.0 TAZ T v N
13.0 0~ 13. 1 0 6. 50 4.35 1.50
Frl s el 6. 80 3.50 1. 00 0.55 112.0 0.0 0.0 112.0|  13,627.0 g@ééﬁé M,
13.1 0~ 13.2 0 6. 50 3. 50 0.55
Frl s el 6. 80 3.50 1. 00 0.55 102. 0 0.0 0.0 102.0|  13,729.0 g’kj@;@gg M,
13.2 0 ~ 13.3 0 6. 50 3. 50 0.55
F o b L 6. 50 3.50 1.00 4. 95 92.0 0.0 0.0 92.0| 13,821.0 ;iééﬁ M,
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i R s e 3.25 0. 00 0. 00 0.75 119.0 0.0 0.0 119.0|  15,268.0 ;2{?@7” e,
14.7 0~ 14.8 0 6.25 0. 00 0.55

Frl L el 3.50 0. 00 0. 00 0. 60 106. 0 0.0 0.0 106.0|  15,374.0 TAT T v N
14.8 0~ 14.9 0 6.25 0. 00 0.70

Frl s el 3.50 0. 00 0. 00 0. 60 100. 0 0.0 0.0 100.0|  15,474.0 TAZ T v
14.9 0~ 15. 0 0 6.25 0. 00 0.70

] VA el 3.50 0. 00 0. 00 0. 60 107.0 0.0 0.0 107.0[  15,581.0 TAZ T
15. 0 0~ 15. 1 0 6. 25 0. 00 0.70

] VA & e 3.50 0. 00 0. 00 0. 60 103.0 0.0 0.0 103.0[ 15,684.0 TAZ TV R
15. 1 0~ 15.2 0 6. 25 0. 00 0.70

S L 3.50 0. 00 0. 00 0. 60 104. 0 0.0 0.0 104.0[  15,788.0 TAZ TV R
15.2 0 ~ 15.3 0 6. 25 0. 00 0.70

i L E e 3.50 0. 00 0. 00 0. 60 119.0 0.0 0.0 119.0|  15,907.0 TAT T v N
15.3 0 ~ 15. 4 0 6. 25 0. 00 0.70

] LS L 3.50 0. 00 0. 00 0. 00 47.0 0.0 0.0 470 15,9540 7TV DELES
15. 4 0~ 15. 4 47 6.25 0. 00 0. 00

i R e 3.50 0. 00 0. 00 0. 38 0.0 0.0 20. 0 20.0| 1597407 7TV DLLES
15. 4 47 ~ 15. 4 67 6. 25 0. 00 0.38

e s e 3.50 0. 00 0. 00 0. 00 21.0 0.0 0.0 21.0|  15,995.0 TAZ T v
15. 4 67 ~ 15.5 0 6.25 0. 00 0. 00

i R s L 3.50 0. 00 0. 00 0. 00 112.0 0.0 0.0 112.0| 16, 107.0 TAT T v N
15.5 0~ 15. 6 0 6.25 0. 00 0.00

Frl L E el 3.50 0. 00 0. 00 0. 00 95.0 0.0 0.0 95.0|  16,202.0 TAZ T N
15. 6 0~ 15.7 0 6.25 0. 00 0. 00

Frl L el 3.50 0. 00 0. 00 0. 00 104. 0 0.0 0.0 104.0| 16, 306.0 TAT T
15.7 0~ 15.8 0 6. 25 0. 00 0. 00

] VA el 3.00 0. 00 0.30 0. 50 102.0 0.0 0.0 102.0]  16,408.0 TAZ T v M
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15.8 0 ~ 15.9 0 3.00 0. 00 0.50

b R 3. 50 0. 00 0. 00 0.00  103.0 0.0 0.0 103.0{ 16,511, 0|7 X7 7V M=
15.9 0~ 16. 0 0 3.50 0. 00 0.00

i s e 3. 50 0. 00 0. 00 0.00] 101.0 0.0 0.0 101.0] 16,612, 0|7 X7 7V M=
16. 0 0~ 16. 1 0 3.50 0. 00 0. 00

el U g e ol 3.50 0. 00 0. 00 0.00 103.0 0.0 0.0 103.0| 16, 715.0 TAT T v M
16. 1 0~ 16. 2 0 3.50 0. 00 0. 00

el U e ol 3.50 0. 00 0. 00 0.00 105.0 0.0 0.0 105.0| 16, 820.0 TAZ T v M
16. 2 0~ 16.3 0 3.50 0. 00 0. 00

e o] U e 3.50 0. 00 0. 00 0.00 99.0 0.0 0.0 99.0( 16,919.0 TAZ T v
16.3 0 ~ 16. 4 0 3.50 0. 00 0. 00

F ] VR e 3.50 0. 00 0. 00 0. 00 104. 0 0.0 0.0 104.0|  17,023.0 TAT T v
16. 4 0 ~ 16.5 0 3.50 0.00 0. 00

] W e 3.50 0. 00 0. 00 1.00 102. 0 0.0 0.0 102.0|  17,125.0 TAZ T v
16.5 0 ~ 16. 6 0 6. 25 0.00 1. 00

Fr RS L 3.50 0. 00 0. 00 1.00 104.0 0.0 0.0 104.0[  17,229.0 TAT T
16. 6 0~ 16.7 0 6.25 0. 00 1. 00

Al U el 3.50 0. 00 0. 00 1.00 95.0 0.0 0.0 95.0| 17,324.0 TAT v
16.7 0~ 16.8 0 6.25 0. 00 1. 00

iy = ] 3.50 0. 00 0. 00 1.00 116.0 0.0 0.0 116.0|  17,440.0 TAT TV N
16.8 0~ 16.9 0 6.25 0. 00 1. 00

i I e 3. 50 0. 00 0. 00 1.0o| 1020 0.0 0.0 102.0{ 17,542, 0|7 X7 7V M=
16.9 0~ 17.0 0 6. 25 0. 00 1. 00

el U T 3.50 0. 00 0. 00 1.00 102.0 0.0 0.0 102.0| 17,644.0 TAT T v M
17.0 0~ 17. 1 0 6. 25 0. 00 1. 00

e fo] U e T 3.50 0. 00 0. 00 1.00 104.0 0.0 0.0 104.0| 17,748.0 TAZ T v M
17. 1 0 ~ 17.2 0 6. 25 0. 00 1. 00
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i R s e 3.50 0. 00 0. 00 0. 00 104. 0 0.0 0.0 104.0|  17,852.0 TAT T v MR
17.2 0 ~ 17.3 0 6. 25 0. 00 0. 00

Frl L el 3.50 0. 00 0. 00 0. 00 104. 0 0.0 0.0 104.0| 17, 956.0 TAT T v N
17.3 0~ 17.4 0 6. 25 0. 00 0. 00

Frl s el 3.50 0. 00 0. 00 0. 00 102.0 0.0 0.0 102.0|  18,058.0 TAZ T v
17.4 0~ 17.5 0 6. 25 0. 00 0. 00

] VA el 3.50 0. 00 0. 00 0.00 108.0 0.0 0.0 108.0[  18,166.0 TAZ T
17.5 0~ 17.6 0 6. 25 0. 00 0. 00

] VA & e 3.50 0. 00 0. 00 0. 60 101.0 0.0 0.0 101.0[  18,267.0 TAZ TV R
17.6 0~ 17.7 0 6. 25 0. 00 1. 00

Frl WL e e 3.50 0. 00 0. 00 0. 60 100. 0 0.0 0.0 100.0[  18,367.0 TAZ TV R
17.7 0 ~ 17.8 0 6. 25 0. 00 1. 00

el L e 3.50 0. 00 0. 00 0. 00 105. 0 0.0 0.0 105.0]  18,472.0 TAT T v N
17.8 0 ~ 17.9 0 6. 25 0. 00 0. 00

] LS L 3.50 0. 00 0. 00 0. 00 104. 0 0.0 0.0 104.0[  18,576.0 TAT TV M
17.9 0~ 18.0 0 6.25 0. 00 0. 00

el s e 3.50 0. 00 0. 00 0. 00 103.0 0.0 0.0 103.0|  18,679.0 TAZ T v M
18.0 0 ~ 18. 1 0 3.50 0. 00 0. 00

e s e 3.50 0. 00 0. 00 1. 80 102.0 0.0 0.0 102.0|  18,781.0 TAZ T v
18. 1 0 ~ 18.2 0 3. 50 0. 00 1.90

Frl L el 3.50 0. 00 0. 00 1. 80 105.0 0.0 0.0 105.0|  18,886.0 TAT T v N
18.2 0~ 18.3 0 3.50 0. 00 1.90

Frl s el 3.50 0. 00 0. 00 2. 20 47.0 0.0 0.0 47.0|  18,933.0 TAZ T v M
18.3 0~ 18.3 47 3.50 0. 00 2. 00

Frl L el 3.50 0. 00 0. 00 1.75 0.0 0.0 21.0 21.0|  18,954.0 TAT T
18.3 47 ~ 18.3 68 3.50 0. 00 1.75

] VA el 3.50 0. 00 0. 00 2.20 33.0 0.0 0.0 33.0[ 18,987.0 TAZ TV R
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18.3 68 ~ 18.4 0 3.50 0. 00 2. 00
b R 3. 50 0. 00 0. 00 2.20]  105.0 0.0 0.0 105.0{ 19,002, 0|7 X7 7V M
18. 4 0~ 18.5 0 3.50 0. 00 2. 00
el U e ol 3.50 0. 00 0. 00 2.20 102.0 0.0 0.0 102.0|  19,194.0 TAT T v N
18.5 0~ 18.6 0 3.50 0. 00 2. 00
el U g e ol 3.50 0. 00 0. 00 0.00 102.0 0.0 0.0 102.0|  19,296.0 TAT T v M
18. 6 0~ 18.7 0 3.50 0. 00 0. 00
el U e ol 3.50 0. 00 0. 00 0.00 102.0 0.0 0.0 102.0|  19,398.0 TAZ T v M
18.7 0~ 18.8 0 3.50 0. 00 0. 00
e o] U e 3.50 0. 00 0. 00 0.00 103.0 0.0 0.0 103.0{  19,501.0 TAZ T v
18.8 0~ 18.9 0 3.50 0. 00 0. 00
F ] VR e 3.50 0. 00 0. 00 0. 00 103. 0 0.0 0.0 103.0|  19,604.0 TAT T v
18.9 0 ~ 19.0 0 3.50 0.00 0. 00
] W e 3.50 0. 00 0. 00 0. 50 103. 0 0.0 0.0 103.0|  19,707.0 TAZ T v
19.0 0 ~ 19. 1 0 6. 25 0.00 0. 80
Fr RS L 3.50 0. 00 0. 00 0. 50 98.0 0.0 0.0 98.0[ 19,805.0 TAT T
19. 1 0~ 19.2 0 6.25 0. 00 0. 80
el U el 3.50 0. 00 0. 00 0.70 106.0 0.0 0.0 106.0|  19,911.0 TAT v
19. 2 0~ 19.3 0 6.25 0. 00 1.10
el U el 3.50 0. 00 0. 00 0.70 100.0 0.0 0.0 100.0|  20,011.0 TAT T v
19.3 0~ 19. 4 0 6.25 0. 00 1. 10
i I e 3. 50 0. 00 0. 00 0.70]  103.0 0.0 0.0 103.0{ 20,114, 0|7 X7 7V MR
19. 4 0~ 19.5 0 6. 25 0. 00 1. 10
e[ U T 3.50 0. 00 0. 00 0. 80 103.0 0.0 0.0 103.0  20,217.0 TAT T v M
19.5 0~ 19.6 0 6. 25 0. 00 1. 00
e o] U e T 3.50 0. 00 0. 00 0. 80 103.0 0.0 0.0 103.0  20,320.0 TAZ T v N
19. 6 0 ~ 19.7 0 6. 25 0. 00 1. 00
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FRi R E L 3.50 0. 00 0.00 0. 80 103.0 0.0 0.0 103.0[  20,423.0 TAT T v MR
19.7 0~ 19.8 0 6.25 0. 00 1. 00

] WA el 3. 50 0. 00 0. 00 1.70 89. 0 0.0 0.0 89.0| 20,512.0 TAT T v N
19.8 0~ 19.8 89 6.25 0. 00 1.70

[ WA el 3.50 0. 00 0. 00 1.75 1.0 0.0 37.0 38.0|  20,550.0 TAZ T v
19.8 89 ~ 19.9 29 3.50 0. 00 1.75

FR R E L 6. 25 0. 00 0. 00 1. 60 76.0 0.0 0.0 76.0 20, 626.0 TAZ T
19.9 29 ~ 20. 0 0 6.25 0. 00 0.50

Frl R s L 6. 25 0. 00 0. 00 1. 60 104.0 0.0 0.0 104.0[  20,730.0 TAZ TV R
20. 0 0~ 20. 1 0 3.75 0. 00 0.50

Ffo] U e 3.75 0. 00 0. 00 1.00 108.0 0.0 0.0 108.0|  20,838.0 TAT T v
20. 1 0~ 20. 2 0 3.75 0. 00 2. 20

i) U e 3.75 0. 00 0. 00 L.70[  103.0 0.0 0.0 103.0[  20,941.0 géﬂé?” P
20. 2 0 ~ 20.3 0 3.75 0. 00 2. 20

el R Ll 3.75 0. 00 0. 00 1.00 96. 0 0.0 0.0 96.0| 21,037.0 TAT TV M
20. 3 0~ 20. 4 0 3.75 0. 00 2. 20

el U B e ol 3.75 0. 00 0.00 0.00 108.0 0.0 0.0 108.0[  21,145.0 TAZ T v M
20. 4 0 ~ 20.5 0 3.75 0. 00 0.00

FR R E e 3.75 0.00 0.00 0.00 95.0 0.0 0.0 95.0( 21,240.0 TAZ T v
20.5 0~ 20. 6 0 3.75 0. 00 0. 00

) WA e 3.75 0. 00 0. 00 1.50 103.0 0.0 0.0 103.0|  21,343.0 TAT T v N
20. 6 0~ 20. 7 0 3.75 0. 00 1. 90

H [ VA el 3.75 0. 00 0. 00 1.60 63.0 0.0 0.0 63.0|  21,406.0 TAZ T N
20.7 0 ~ 20. 7 63 7.25 0. 00 1. 60

] VA el 3.50 0. 00 0. 00 0.75 1.0 0.0 102. 0 103.0|  21,509.0 TAT T
20.7 63 ~ 20. 8 65 3.50 0. 00 0.75

] WA e 3.75 0. 00 0. 00 1. 60 41.0 0.0 0.0 41.0|  21,550.0 TAZ TV R
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20. 8 65 ~ 20. 9 0 3.75 0. 00 1. 60

b R 3.75 0. 00 0. 00 1.60|  106.0 0.0 0.0 106.0{ 21,656, 0|7 X7 7V M
20. 9 0~ 21.0 0 3.75 0. 00 1. 60

i s e 3.75 0. 00 0. 00 1.60|  101.0 0.0 0.0 101.0{ 21,757, 0|7 X7 7V MR
21.0 0~ 21.1 0 3.75 0. 00 1. 60

el U g e ol 3.75 0. 00 0. 00 1. 60 100.0 0.0 0.0 100.0|  21,857.0 TAT T v M
21.1 0~ 21.2 0 3.75 0. 00 1. 60

el U e ol 3.75 0. 00 0. 00 1. 60 106.0 0.0 0.0 106.0|  21,963.0 TAZ T v M
21.2 0~ 21.3 0 3.75 0. 00 3.20

e o] U e 3.75 0. 00 0. 00 1.80 96. 0 0.0 0.0 96.0[ 22,059.0 TAZ T v
21.3 0 ~ 21.4 0 3.75 0. 00 1. 80

F ] VR e 3.75 0. 00 0. 00 1.80 99. 0 0.0 0.0 99.0| 22,158.0 TAT T v
21. 4 0 ~ 21.5 0 3.75 0.00 1. 80

] W e 3.75 0. 00 0. 00 1.80 99. 0 0.0 0.0 99.0 22,257.0 TAZ T v
21.5 0 ~ 21.6 0 3.75 0.00 1. 80

Fr RS L 3.75 0. 00 0. 00 1.80 106. 0 0.0 0.0 106.0[  22,363.0 TAT T
21.6 0~ 21.7 0 3.75 0. 00 1. 80

] RS L 3.75 0. 00 0. 00 1.80 99.0 0.0 0.0 99.0| 22,462.0 TAT v
21.7 0~ 21.8 0 3.75 0. 00 1. 80

el U el 3.75 0. 00 0. 00 1.80 109.0 0.0 0.0 109.0|  22,571.0 TAT T v
21.8 0~ 21.9 0 3.75 0. 00 1. 80

i I e 3.75 0. 00 0. 00 1.80|  115.0 0.0 0.0 115.0| 22,686, 0|7 X7 7V M=
21.9 0~ 22.0 0 3.75 0. 00 1. 80

e[ U T 3.75 0. 00 0. 00 1.80 91.0 0.0 0.0 91.0| 22,777.0 TAT T v M
22.0 0~ 22. 1 0 3.75 0. 00 1. 80

e o] U e T 3.75 0. 00 0. 00 1.80 106. 0 0.0 0.0 106.0 22,883.0 TAZ T v M
22. 1 0 ~ 22. 2 0 3.75 0. 00 1. 80
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FRi R E L 3.75 0. 00 0.00 1.80 98.0 0.0 0.0 98.0[ 22,981.0 TAT T v MR
22.2 0 ~ 22.3 0 3.75 0. 00 1. 80

] WA el 3.75 0. 00 0. 00 1.80 78.0 0.0 0.0 78.0|  23,059.0 TAT T v N
22.3 0 ~ 22.3 78 3.75 0. 00 1. 80

[ WA el 3.75 0. 00 0. 00 1.50 1.0 0.0 43.0 44.0|  23,103.0 TAZ T v N
22.3 78 ~ 22. 4 20 3.75 0.00 1. 50

FR R E L 3.75 0. 00 0. 00 1.80 86. 0 0.0 0.0 86.0[ 23,189.0 TAZ T
22.4 20 ~ 22.5 0 3.75 0.00 1. 80

Frl R s L 3.75 0. 00 0. 00 1.80 99.0 0.0 0.0 99.0[ 23,288.0 TAZ TV R
22.5 0~ 22. 6 0 3.75 0. 00 1. 80

i) U 3.75 0. 00 0. 00 1.80 16.0 0.0 0.0 16.0[  23,304.0 zéﬂ?f” M
22. 6 0~ 22.6 16 3.75 0. 00 1. 80

i) U e T 3.75 0. 00 0. 00 1.38 1.0 0.0 46.0 47.0|  23,351.0 ;2{17@7’W%%’
22. 6 16 ~ 22. 6 63 3.75 0. 00 1.38 ,

i) Uk e 3.75 0. 00 0. 00 1.80 41.0 0.0 0.0 41.0|  23,392.0 77;;;{17@7” P
22. 6 63 ~ 22. 17 0 3.75 0. 00 1. 80 ‘

] Wi e 3.75 0. 00 0. 00 1.80 103.0 0.0 0.0 103.0|  23,495.0 ;’;;ZJ” P,
22. 17 0 ~ 22. 8 0 3.75 0. 00 1. 80

i) U e 6.75 0. 00 0. 00 120 113.0 0.0 0.0 113.0[  23,608.0 Ziéﬂ?f” hi,
22.8 0 ~ 22.9 0 7.00 0. 00 1. 40

] SR 6. 75 0. 00 0. 00 1. 20 99.0 0.0 0.0 99.0[  23,707.0 ;;éy@’?ﬁ:;
22.9 0 ~ 23.0 0 7.00 0. 00 1. 40 RS

H [ VA el 3.50 0. 00 0. 00 0. 60 103.0 0.0 0.0 103.0|  23,810.0 TAZ T N
23.0 0 ~ 23. 1 0 3.50 0. 00 0. 80

H ] VA B el 3.50 0. 00 0. 00 0. 60 100. 0 0.0 0.0 100.0|  23,910.0 TAT T
23. 1 0 ~ 23.2 0 3.50 0.00 0. 80

] VA e 3.25 0. 00 0. 00 0. 80 104.0 0.0 0.0 104.0[  24,014.0 TAZ TV R
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23.2 0 ~ 23.3 0 3.25 0. 00 0.80

b R 3. 25 0. 00 0. 00 0.80]  102.0 0.0 0.0 102.0{ 24,116, 0|7 X7 7V M
23.3 0~ 23. 4 0 3.25 0. 00 0.80

el U e ol 3.25 0. 00 0. 00 0.70 100.0 0.0 0.0 100.0|  24,216.0 TAT T v N
23. 4 0~ 23.5 0 3.25 0. 00 0.70

el U g e ol 3.50 0. 00 0. 00 0.70 103.0 0.0 0.0 103.0|  24,319.0 TAT T v M
23.5 0~ 23.6 0 3.50 0. 00 0.70

el U e ol 3.50 0. 00 0. 00 0. 60 102.0 0.0 0.0 102.0|  24,421.0 TAZ T v M
23. 6 0~ 23.7 0 3.50 0. 00 1. 00

e o] U e 3.50 0. 00 0. 00 0.70 105.0 0.0 0.0 105.0|  24,526.0 TAZ T v
23.7 0~ 23.8 0 3.50 0. 00 0.70

F ] VR e 3.50 0. 00 0. 00 0.70 98. 0 0.0 0.0 98.0|  24,624.0 TAT T v
23.8 0 ~ 23.9 0 3.50 0.00 0.70

] W e 3.50 0. 00 0. 00 0.70 103. 0 0.0 0.0 103.0|  24,727.0 TAZ T v
23.9 0 ~ 24. 0 0 3.50 0.00 0.70

(] U e 3.25 0. 00 0. 00 0.70|  102.0 0.0 0.0 102.0[  24,829.0 gééfjﬁ;ﬁ%;
24.0 0~ 24. 1 0 3.25 0. 00 0.70 ES

Al U el 3.25 0. 00 0. 00 0.70 101.0 0.0 0.0 101.0|  24,930.0 TAZ 7 v b
24. 1 0~ 24. 2 0 3.25 0. 00 0.70

iy = ] 3.50 0. 00 0. 00 1.10 103.0 0.0 0.0 103.0|  25,033.0 TAT TV N
24. 2 0~ 24.3 0 3.50 0. 00 1. 20

el U e L ol 3.50 0. 00 0. 00 0.70 104.0 0.0 0.0 104.0|  25,137.0 TATZ T v
24.3 0~ 24. 4 0 3.50 0. 00 0.70

el U T 3.50 0. 00 0. 00 0.70 104.0 0.0 0.0 104.0  25,241.0 TAT T v M
24. 4 0~ 24.5 0 3.50 0. 00 0.70

e fo] U e T 3.50 0. 00 0. 00 0.70 101.0 0.0 0.0 101.0|  25,342.0 TAZ T v M
24.5 0 ~ 24. 6 0 3.50 0. 00 0. 70
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i R s e 3.50 0. 00 0. 00 0.70 104. 0 0.0 0.0 104.0| 25, 446.0 ;2{?@7” e,
24. 6 0 ~ 24.7 0 3. 50 0. 00 0. 70

Frl L el 3.50 0. 00 0. 00 0.70 101.0 0.0 0.0 101.0|  25,547.0 ;;ﬂf;” M,
24.7 0~ 24.8 0 3. 50 0. 00 0. 70

Frl s el 3.50 0. 00 0. 00 0. 70 102.0 0.0 0.0 102.0| 25, 649.0 TAZ T v N
24. 8 0~ 24.9 0 3. 50 0. 00 0.70

] VA el 3.50 0. 00 0. 00 0.70 102.0 0.0 0.0 102.0[  25,751.0 TAZ T
24.9 0~ 25.0 0 3.50 0. 00 0.70

] VA & e 3.50 0. 00 0. 00 0.70 103.0 0.0 0.0 103.0[  25,854.0 TAZ TV R
25.0 0~ 25. 1 0 3.50 0. 00 0.70

Frl WL e e 3.50 0. 00 0. 00 0.70 103. 0 0.0 0.0 103.0[  25,957.0 TAZ TV R
25. 1 0 ~ 25. 2 0 3.50 0. 00 0.70

el L e 3.50 0. 00 0. 00 0.70 103. 0 0.0 0.0 103.0| 26, 060.0 TAT T v N
25.2 0 ~ 25.3 0 3.50 0. 00 0.70

] LS L 3.50 0. 00 0. 00 0.70 103. 0 0.0 0.0 103.0|  26,163.0|7 %7 7" DELES
25.3 0~ 25. 4 0 3.50 0. 00 0.70 ‘

el s e 3.25 0. 00 0. 00 0.70 103.0 0.0 0.0 103.0|  26,266.0 ;’;;ﬂéyﬁfﬁ:;
25.4 0~ 25.5 0 3.25 0. 00 0.70 D

e s e 3.25 0. 00 0. 00 0. 70 102.0 0.0 0.0 102.0|  26,368.0 TAZ T v
25.5 0 ~ 25. 6 0 3.25 0. 00 0.70

Frl L el 3.25 0. 00 0. 00 0. 70 103.0 0.0 0.0 103.0] 26,471,077 T b
25. 6 0~ 25.7 0 3.25 0. 00 0. 70

Frl s el 3.25 0. 00 0. 00 0. 70 101.0 0.0 0.0 101.0|  26,572.0 TAZ T M
25. 7 0~ 25.8 0 3.25 0. 00 0.70

Frl s el 3.25 0. 00 0. 00 0. 80 102. 0 0.0 0.0 102.0|  26,674.0 TAT T
25. 8 0~ 25.9 0 3.25 0. 00 0. 80

] VA e 3.25 0. 00 0. 00 0. 80 104.0 0.0 0.0 104.0[  26,778.0 TAZ TV R
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25.9 0 ~ 26.0 0 3.25 0. 00 0.80

b R 3. 25 0. 00 0. 00 1.00 95.0 0.0 0.0 95.0| 26,873, 0|7 X7 7V MR
26. 0 0~ 26. 1 0 3.25 0. 00 1. 00

el U e ol 3.50 0. 00 0. 00 0.70 112.0 0.0 0.0 112.0|  26,985.0 TAT T v N
26. 1 0~ 26. 2 0 3.50 0. 00 0.70

el U g e ol 3.50 0. 00 0. 00 0.70 100.0 0.0 0.0 100.0| 27, 085.0 TAT T v M
26. 2 0~ 26.3 0 3.50 0. 00 0.70

el U e ol 3.50 0. 00 0. 00 0.70 101.0 0.0 0.0 101.0| 27,186.0 TAZ T v M
26.3 0~ 26. 4 0 3.50 0. 00 0. 70

e o] U e 3.50 0. 00 0. 00 4.20 103.0 0.0 0.0 103.0|  27,289.0 TAZ T v
26. 4 0 ~ 26.5 0 3.50 0. 00 1. 50

F ] VR e 3.50 0. 00 0. 00 0.70 102. 0 0.0 0.0 102.0|  27,391.0 TAT T v
26.5 0 ~ 26. 6 0 3.50 0.00 1. 40

] W e 3.50 0. 00 0. 00 0.70 102. 0 0.0 0.0 102.0|  27,493.0 TAZ T v N
26. 6 0 ~ 26. 7 0 3.50 0.00 1. 40

Fr RS L 3.50 0. 00 0. 00 1. 40 96.0 0.0 0.0 96.0[ 27,589.0 TAT T
26. 7 0~ 26. 8 0 3.50 0. 00 0.70

Al U el 3.50 0. 00 0. 00 1. 40 102.0 0.0 0.0 102.0|  27,691.0 TAT v
26.8 0~ 26.9 0 3.50 0. 00 0.70

iy = ] 3.50 0. 00 0. 00 0.70 101.0 0.0 0.0 101.0|  27,792.0 TAT T v
26.9 0~ 27.0 0 3.50 0. 00 0.70

i I e 3. 50 0. 00 0. 00 o.70  110.0 0.0 0.0 110.0{ 27,902, 0|7 X7 7V M=
27.0 0~ 27.1 0 3.50 0. 00 0.70

i i e 3. 50 0. 00 0. 00 0.70  102.0 0.0 0.0 102.0| 28,004, 0|7 X7 7V MR
27. 1 0~ 27.2 0 3.50 0. 00 0.70

[ VA s 3.50 0. 00 0. 00 0.70 90. 0 0.0 0.0 90.0[ 28,094.0 TAZ T v N
27.2 0 ~ 27.3 0 3.50 0. 00 0. 70
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i R s e 3.50 0. 00 0. 00 0.70 112.0 0.0 0.0 112.0|  28,206.0 TAT T v MR
27.3 0 ~ 27. 4 0 3. 50 0. 00 0. 70

Frl L el 3.50 0. 00 0. 00 0.70 104. 0 0.0 0.0 104.0|  28,310.0 TAT T v N
27.4 0~ 27.5 0 3. 50 0. 00 0. 70

Frl s el 3.50 0. 00 0. 00 0. 70 99.0 0.0 0.0 99.0|  28,409.0 TAZ T v
27.5 0~ 27.6 0 3. 50 0. 00 0.70

] VA el 3.50 0. 00 0. 00 0.70 94.0 0.0 0.0 94.0[ 28,503.0 TAZ T
27.6 0~ 27.7 0 3.50 0. 00 0.70

] VA & e 3.50 0. 00 0. 00 0.70 100.0 0.0 0.0 100.0[  28,603.0 TAZ TV R
27.7 0~ 27.8 0 3.50 0. 00 0.70

Frl WL e e 3.50 0. 00 0. 00 0.70 103. 0 0.0 0.0 103.0[  28,706.0 TAZ TV R
27.8 0 ~ 27.9 0 3.50 0. 00 0.70

el L e 3.50 0. 00 0. 00 0.70 102. 0 0.0 0.0 102.0|  28,808.0 TAT T v N
27.9 0 ~ 28. 0 0 3.50 0. 00 0.70

] LS L 3.50 0. 00 0. 00 5. 20 100. 0 0.0 0.0 100.0[  28,908.0 TAT TV M
28. 0 0~ 28. 1 0 3.50 0. 00 1. 00

el s e 3.50 0. 00 0. 00 0. 60 106. 0 0.0 0.0 106.0|  29,014.0 TAT v M
28. 1 0 ~ 28. 2 0 3.50 0. 00 0. 60

e s e 3.50 0. 00 0. 00 0. 60 101.0 0.0 0.0 101.0|  29,115.0 ;2{?@7” M,
28. 2 0 ~ 28.3 0 3. 50 0. 00 0. 60

Frl L el 3.50 0. 00 0. 00 0. 60 104. 0 0.0 0.0 104.0|  29,219.0 TAT T v N
28. 3 0~ 28. 4 0 3.50 0. 00 0. 60

Frl s el 3.50 0. 00 0. 00 0. 60 104. 0 0.0 0.0 104.0|  29,323.0 TAZ T N
28. 4 0~ 28.5 0 3. 50 0. 00 0. 60

Frl s el 3.50 0. 00 0. 00 0. 60 103.0 0.0 0.0 103.0|  29,426.0 TAT T
28.5 0~ 28. 6 0 3.50 0. 00 0. 60

] VA e 3.50 0. 00 0. 00 0. 60 103.0 0.0 0.0 103.0[  29,529.0 TAZ T v i
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28. 6 0 ~ 28. 7 0 3.50 0. 00 0. 60

b R 3. 50 0. 00 0. 00 0.60|  102.0 0.0 0.0 102.0{ 29,631, 0|7 X7 7V M=
28. 17 0~ 28. 8 0 3.50 0. 00 0. 60

el U e ol 3.75 0. 00 0. 00 0. 60 88.0 0.0 0.0 88.0| 29,719.0 TAT T v N
28.8 0~ 28. 8 88 3.50 0. 00 0. 60

b I e 3.75 0. 00 0. 00 0. 60 0.0 0.0 9.0 9.0| 29,728 0|7 *7 7V M
28. 8 88 ~ 28. 8 97 3.50 0. 00 0. 65

FRiE R E e 3.75 0. 00 0. 00 0. 60 9.0 0.0 0.0 9.0 29,737.0 TAZ T v M
28. 8 97 ~ 28. 9 0 3.50 0. 00 0. 60

e o] U | e 3.25 0. 00 0. 00 0. 60 102.0 0.0 0.0 102.0[  29,839.0 TAZ T v
28.9 0~ 29. 0 0 6. 25 0. 00 0. 60

i) SR 3.25 0. 00 0. 00 1.00|  100.0 0.0 0.0 100.0|  29,939.0 ,ﬁ;ﬂf’;ﬁj@j;
29. 0 0~ 29. 1 0 6. 25 0. 00 0. 50 ES

] W e 3.25 0. 00 0. 00 1.00 101. 0 0.0 0.0 101.0| 30, 040.0 TAZ T v N
29. 1 0 ~ 29. 2 0 6. 25 0.00 0.50

Fr RS L 3.25 0. 00 0. 00 1.20 103.0 0.0 0.0 103.0[  30,143.0 TAT T
29. 2 0~ 29. 3 0 6. 00 0. 00 0.50

el U el 3.50 0. 00 0. 00 0. 60 98.0 0.0 0.0 98.0|  30,241.0 TAT v
29.3 0~ 29. 4 0 3.50 0. 00 0. 60

el U el 3.25 0. 00 0. 00 0.70 110.0 0.0 0.0 110.0|  30,351.0 TAT TV N
29. 4 0~ 29.5 0 3.25 0. 00 0.70

el U e e ol 3.50 0. 00 0. 00 0. 60 99.0 0.0 0.0 99.0| 30, 450.0 TATZ T v
29.5 0~ 29. 6 0 3.50 0. 00 1. 60

e[ U T 3.50 0. 00 0. 00 0. 60 92.0 0.0 0.0 92.0| 30,542.0 TAT T v M
29. 6 0~ 29. 7 0 3.50 0. 00 1. 60

e o] U e T 3.50 0. 00 0. 00 0. 50 112.0 0.0 0.0 112.0]  30,654.0 TAZ T v M
29.7 0 ~ 29. 8 0 3.50 0. 00 0. 50
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i R s e 3.50 0. 00 0. 00 0.50 106. 0 0.0 0.0 106.0| 30, 760. 0 TAT T v MR
29. 8 0 ~ 29.9 0 3. 50 0. 00 0. 50

Frl L el 3.50 0. 00 0. 00 0.50 98.0 0.0 0.0 98.0|  30,858.0 TAT T v N
29. 9 0~ 30.0 0 3. 50 0. 00 0. 50

Frl s el 3.50 0. 00 0. 00 1. 80 97.0 0.0 0.0 97.0|  30,955.0 TAZ T v
30.0 0~ 30. 1 0 3. 50 0. 00 1.00

] VA el 3.50 0. 00 0. 00 0. 50 107.0 0.0 0.0 107.0[  31,062.0 TAZ T
30. 1 0~ 30. 2 0 3.50 0. 00 0. 50

] VA & e 3.50 0. 00 0. 00 0. 50 100.0 0.0 0.0 100.0[  31,162.0 TAZ TV R
30.2 0~ 30.3 0 3.50 0. 00 0.50

Frl WL e e 3.50 0. 00 0. 00 0. 50 104. 0 0.0 0.0 104.0|  31,266.0 TAZ TV R
30.3 0 ~ 30. 4 0 3.50 0. 00 0.50

el L e 3.25 0. 00 0. 00 2.20 96. 0 0.0 0.0 96.0( 31,362.0 TAT T v N
30. 4 0 ~ 30.5 0 3.25 0. 00 2. 00

] LS L 3.50 0. 00 0. 00 0. 60 113.0 0.0 0.0 113.0[  31,475.0 TAT TV M
30.5 0 ~ 30. 6 0 3.50 0. 00 0. 60

e R e 3.50 0. 00 0. 00 0. 60 94.0 0.0 0.0 94.0|  31,569.0 TAZ T v M
30. 6 0 ~ 30. 7 0 3.50 0. 00 0. 60

e s e 3.50 0. 00 0. 00 0. 60 112.0 0.0 0.0 112.0|  31,681.0 TAZ T v
30.7 0 ~ 30.8 0 3. 50 0. 00 0. 60

Frl s el 3.50 0. 00 0. 00 0. 60 98.0 0.0 0.0 98.0|  31,779.0 TAT T v N
30.8 0~ 30.9 0 3.50 0. 00 0. 60

Frl s el 3.50 0. 00 0. 00 0. 60 103.0 0.0 0.0 103.0|  31,882.0 TAZ T M
30.9 0~ 31.0 0 3.50 0. 00 0. 60

Frl s el 3.50 0. 00 0. 00 0. 60 102. 0 0.0 0.0 102.0|  31,984.0 TAT T
31.0 0 ~ 31.1 0 3.50 0. 00 0. 60

] VA e 3.50 0. 00 0. 00 0. 60 43.0 0.0 0.0 43.0|  32,027.0 TAZ TV R
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31.1 0 ~ 31.1 43 3.50 0. 00 0. 60

b i 3. 50 0. 00 0. 00 0.75 1.0 0.0 7.0 8.0 32,035 0 27 7/v ML
31.1 43 ~ 31.1 51 3.50 0. 00 0.75

Bl R e 3. 50 0. 00 0. 00 0. 60 51.0 0.0 0.0 s1.0] 32,086, 0|7 %7 7V MR
31.1 51 ~ 31.2 0 3.50 0. 00 0. 60

el U g Ll 3.50 0. 00 0. 00 0. 60 103.0 0.0 0.0 103.0|  32,189.0 TAT T v M
31.2 0~ 31.3 0 3.50 0. 00 0. 60

el U el 3.50 0. 00 0. 00 0. 60 103.0 0.0 0.0 103.0|  32,292.0 TAZ T v M
31.3 0 ~ 31.4 0 3.50 0. 00 0. 60

e o] U e 3.50 0. 00 0. 00 0.70 19.0 0.0 0.0 19.0] 32,311.0 TAZ T v
31.4 0 ~ 31.4 19 3.50 0. 00 0.70

F ] W B e 3.50 0. 00 0. 00 0.75 1.0 0.0 7.0 8.0 32,319.0 TAT T v
31.4 19 ~ 31.4 27 3.50 0. 00 0.75

Ff ] W e 3.50 0. 00 0. 00 0.70 76.0 0.0 0.0 76.0|  32,395.0 TAZ T v
31.4 27 ~ 31.5 0 3.50 0. 00 0.70

Fr RS L 3.50 0. 00 0. 00 0.70 102.0 0.0 0.0 102.0[  32,497.0 TAT T
31.5 0~ 31.6 0 3.50 0. 00 1. 40

Al U el 3.50 0. 00 0. 00 0.70 105.0 0.0 0.0 105.0|  32,602.0 TAT v
31.6 0~ 31.7 0 3.50 0. 00 1. 40

iy = ] 3.50 0. 00 0. 00 0.70 97.0 0.0 0.0 97.0| 32,699.0 TAT T v
31.7 0~ 31.8 0 3.50 0. 00 1. 40

el U e L ol 3.50 0. 00 0. 00 0. 60 105.0 0.0 0.0 105.0|  32,804.0 TATZ T v
31.8 0~ 31.9 0 3.50 0. 00 0. 60

el U T 3.50 0. 00 0. 00 0. 60 103.0 0.0 0.0 103.0  32,907.0 TAT T v M
31.9 0~ 32.0 0 3.50 0. 00 0. 60

[ VA s 3.50 0. 00 0. 00 0.70 105. 0 0.0 0.0 105.0{  33,012.0 TAZ T v N
32.0 0 ~ 32.1 0 3.50 0. 00 0. 70
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i R s e 3.50 0. 00 0. 00 1. 00 96. 0 0.0 0.0 96.0| 33,108.0 TAT T v MR
32. 1 0 ~ 32.2 0 3. 50 0. 00 0. 80

Frl L el 3.50 0. 00 0. 00 1. 00 107.0 0.0 0.0 107.0|  33,215.0 TAT T v N
32.2 0~ 32.3 0 3. 50 0. 00 0. 80

Frl s el 3.50 0. 00 0. 00 0. 60 102.0 0.0 0.0 102.0|  33,317.0 TAZ T v
32.3 0~ 32.4 0 3. 50 0. 00 0. 60

] VA el 3.50 0. 00 0. 00 0. 60 97.0 0.0 0.0 97.0( 33,414.0 TAZ T
32.4 0~ 32.5 0 3.50 0. 00 0. 60

] VA & e 3.50 0. 00 0. 00 0. 60 108.0 0.0 0.0 108.0[  33,522.0 TAZ TV R
32.5 0~ 32.6 0 3.50 0. 00 0. 60

Frl WL e e 3.50 0. 00 0. 00 0. 60 101. 0 0.0 0.0 101.0[  33,623.0 TAZ TV R
32.6 0 ~ 32.7 0 3.50 0. 00 0. 60

el L e 3.50 0. 00 0. 00 0.70 97.0 0.0 0.0 97.0(  33,720.0 TAT T v N
32.7 0 ~ 32.8 0 3.50 0. 00 0. 90

] LS L 3.50 0. 00 0. 00 0.70 104. 0 0.0 0.0 104.0[  33,824.0 TAT TV M
32.8 0~ 32.9 0 3.50 0. 00 0. 90

el s e 3.50 0. 00 0. 00 0.70 104. 0 0.0 0.0 104.0|  33,928.0 TAZ T v M
32.9 0 ~ 33.0 0 3.50 0. 00 0. 90

e s e 3.50 0. 00 0. 00 0. 70 102.0 0.0 0.0 102.0|  34,030.0 TAZ T v
33.0 0 ~ 33.1 0 3. 50 0. 00 0.70

Frl L el 3.50 0. 00 0. 00 0. 70 103.0 0.0 0.0 103.0|  34,133.0 TAT T v N
33.1 0~ 33.2 0 3.50 0. 00 0. 70

Frl s el 3.50 0. 00 0. 00 0. 70 119.0 0.0 0.0 119.0|  34,252.0 TAZ T N
33.2 0~ 34.0 0 3. 50 0. 00 0.70

Frl s el 3.15 0. 00 0. 00 0. 65 98.0 0.0 0.0 98.0|  34,350.0 TAT T
34.0 0~ 34.1 0 3. 20 0. 00 0. 60

] VA e 3.15 0. 00 0. 00 0.95 106. 0 0.0 0.0 106.0[ 34, 456.0 TAZ TV R

- 107 -




108,109

i
=
A
=
I

Foi 2024/3/22
B4 0 0139 BiiE
e = SE 53
S (BB B, TEB: TVl m m T IE ¥ 1 o> T A fisi
HOGE | A& | oEw | B OB | B K | hexra & T A it E
m
34. 1 0 ~ 34.2 0 3.20 0. 00 0.85
b R 3.20 0. 00 0. 00 0. 60 99.0 0.0 0.0 99.0| 34,8555, 0| *7 7V MR
34.2 0~ 34.3 0 3.20 0. 00 0.55
el U e ol 3.20 0. 00 0. 00 0. 60 109.0 0.0 0.0 109.0|  34,664.0 TAT T v N
34.3 0~ 34. 4 0 3.20 0. 00 0.55
el U g e ol 3.20 0. 00 0. 00 0. 60 102.0 0.0 0.0 102.0|  34,766.0 TAT T v M
34. 4 0~ 34.5 0 3.20 0. 00 0. 60
el U e ol 3.20 0. 00 0. 00 0. 60 101.0 0.0 0.0 101.0|  34,867.0 TAZ T v M
34.5 0~ 34.6 0 3.20 0. 00 0. 60
e o] U e 3.20 0. 00 0. 00 0. 60 96. 0 0.0 0.0 96.0[ 34,963.0 TAZ T v
34.6 0~ 34.7 0 3. 20 0. 00 0. 60
F ] VR e 3.20 0. 00 0. 00 0. 65 97.0 0.0 0.0 97.0| 35, 060.0 TAT T v
34.7 0 ~ 34.8 0 3.20 0.00 0.55
] W e 3.20 0. 00 0. 00 0.55 106. 0 0.0 0.0 106.0| 35, 166.0 TAZ T v
34.8 0 ~ 34.9 0 3.20 0.00 0. 60
Fr RS L 3.20 0. 00 0. 00 0.55 106. 0 0.0 0.0 106.0[  35,272.0 TAT T
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